
Item

#
Description Part # Image Pack In Kit

1 Zip Ties, Blue, 150mm (100 pack) 70010 100 1

2 12V 3,000 mAh NiMH Battery Pack, PP45 70018 1 1

3 NiMH Battery Pack Charger, PP45 70019 1 1

4 Powerpole 45 Extension Cable, 14AWG, 50cm 70021 1 1

5 Remote Controller - Bluetooth 70112 1 1

Two-Wheel Drive Bot      

Part # 70222

https://www.studica.co/zip-ties-in-blue-150mm-100-pack
https://www.studica.co/12v-3000-mah-nimh-battery-pack-pp45
https://www.studica.co/nimh-battery-pack-charger-pp45
https://www.studica.co/powerpole-45-extension-cable-14awg-50cm
https://www.studica.co/studica-controller-usb-bluetooth


6 2.5mm Hex Ball End Screwdriver 70142 1 1

7 Hex Key Metric 7 Piece Set (1.5, 2, 2.5, 3, 4, 5, 6) 70144 1 1

8 Combination Wrench, 5.5mm 70145 1 1

9 Titan Quad Motor Controller 70152 1 1

10 VMX Cable Pack 70160 1 1

11
Titan Cable Pack w/1 CAN Cable & 2 JST-VH to JST-VH 

Cable
70162 1 1

12 Power Control Panel 70170 1 1

https://www.studica.co/25mm-hex-ball-end-screwdriver
https://www.studica.co/hex-key-metric-7-piece-set-15-2-25-3-4-5-6
https://www.studica.co/55mm-combination-wrench
https://www.studica.co/titan-quad-motor-controller
https://www.studica.co/vmx-wire-pack
https://www.studica.co/titan-wire-pack


13 VMX Robotics Controller 70176 1 1

14 360 Degree LiDAR 70500 1 1

15 3D Depth Sense Camera 71044 1 1

16 Maverick 12V DC Gear Motor w/Encoder 75001 1 2

17 240mm U-Channel (2 pack) 76014-2 2 1

18 96mm U-Channel (2 pack) 76017-2 2 1

19 Motor Mount Plate 76140 1 2

https://www.studica.co/vmx-robotics-controller
https://www.studica.co/360-degree-lidar
https://www.studica.co/studica-3d-depth-sense-camera
https://www.studica.co/maverick-12v-dc-gear-motor-wencoder
https://www.studica.co/240mm-u-channel
https://www.studica.co/96mm-u-channel-2-pack
https://www.studica.co/motor-mount-plate


20 End Piece Plate 76143-2 2 1

21 6mm x 96mm D-Shaft (6 pack) 76161-6 6 1

22 52mm Standoff (10 pack) 76183-10 10 1

23 M3 x 8mm Socket Head Cap Screw (pack of 100) 76200-100 100 1

24 M3 x 10mm Socket Head Cap Screw (pack of 100) 76201-100 100 1

25 M3 x 12mm Socket Head Cap Screw (pack of 100) 76202-100 100 1

26 M3 x 10mm Button Head Cap Screw (pack of 50) 76203-50 50 1

https://www.studica.co/end-piece-plate-2-pack
https://www.studica.co/6mm-x-96mm-d-shaft-6-pack
https://www.studica.co/52mm-standoff-10-pack
https://www.studica.co/m3-x-8mm-socket-head-cap-screw-100-pack
https://www.studica.co/m3-x-10mm-socket-head-cap-screw-100-pack
https://www.studica.co/m3-x-12mm-socket-head-cap-screw-100-pack
https://www.studica.co/m3-x-10mm-button-head-cap-screw-50-pack


27 M3 Nyloc Nut (pack of 100) 76205-100 100 1

28 M3 x 30mm Socket Head Cap Screw (pack of 50) 76206-50 50 1

29 M3 x 20mm Socket Head Cap Screw (pack of 50) 76209-50 50 1

30 6mm Socket Head Screws 76213-50 50 1

31 25mm Socket Head Screws 76214-50 50 1

32 30 Tooth Bevel Gear 1 to 1 Set 76219-2 2 1

33
100mm Drive Wheel - 50A - 25mm wide - 1/2" Inner Hex - 

Blue
76262 1 2

https://www.studica.co/m3-nyloc-nut-100-pack
https://www.studica.co/m3-x-30mm-socket-head-cap-screw-50-pack
https://www.studica.co/m3-x-20mm-socket-head-cap-screw-50-pack
https://www.studica.co/m3-x-6mm-socket-head-cap-screw-pack-of-50
https://www.studica.co/m3-x-25mm-socket-head-cap-screw-pack-of-50
https://www.studica.co/30-tooth-bevel-gear-x-1-to-1-set-2-pack
https://www.studica.co/100mm-drive-wheel-50a-25mm-wide-12-inner-hex-blue


34 100mm Omni Wheel 76272 1 1

35 Clamping Shaft Hub-v2 76280 1 2

36 Enhanced Wheel Hub Kit 76291 1 1

37 Face Bearing Block Assembly 76299 1 1

38 Flange Bearing 6mm ID, 14mm OD, 15mm Flange (12 pack) 76302 12 1

39 Shaft Spacer 2mm - Nylon (24 pack) 76306-24 24 1

40 Shaft Spacer 5mm - Nylon (12 pack) 76307-12 12 1

https://www.studica.co/100mm-omni-wheel
https://www.studica.co/clamping-shaft-hub-v2
https://www.studica.co/enhanced-wheel-hub-kit
https://www.studica.co/face-bearing-block
https://www.studica.co/flange-bearing-6mm-id-x-14mm-od-x-15mm-flange-12-pack
https://www.studica.co/shaft-spacer-2mm-nylon-24-pack
https://www.studica.co/shaft-spacer-1mm-nylon-24-pack


41 Collar Clamp 76320 1 3

42 Rubber Grommet (10 pack) 76504-10 10 1

43 U-Channel Bumper (4 pack) 76505-4 4 1

44 Rubber Foot (4 pack) 76506-4 4 1

45 3D Printed Parts 1

46 Laser Cut Plate 1

https://www.studica.co/6mm-d-shape-collar-clamp
https://www.studica.co/wire-grommet-10-pack
https://www.studica.co/u-channel-bumper-4-pack
https://www.studica.co/rubber-foot-4-pack-76506

